
 

 

 

Midwest Pooled Fund Program 

Fiscal Years 2018-2021 (Year 28) 

Research Project Number TPF-5(193) Supplement #118 

NDOT Sponsoring Agency Code RPFP-18-CABLE-1  
 

DESIGN AND EVALUATION OF SLEEVE 

NUT THROUGH TENSILE TESTING 

Submitted by 

 

Cody S. Stolle, Ph.D., E.I.T. 

Research Assistant Professor 

 

Mojdeh Asadollahi Pajouh, Ph.D., P.E. 

Former Postdoctoral Research Associate 

Assistant Professor, University of Nevada-

Las Vegas 

Karla A. Lechtenberg, M.S.M.E., E.I.T. 

Research Engineer 

 

Ronald K. Faller, Ph.D., P.E. 

Research Professor & MwRSF Director 

 

 

Erin L. Urbank, B.A. 

Research Communication Specialist 

 

MIDWEST ROADSIDE SAFETY FACILITY 

Nebraska Transportation Center 

University of Nebraska-Lincoln 

 

Main Office 

Prem S. Paul Research Center at Whittier School 

Room 130, 2200 Vine Street 

Lincoln, Nebraska 68583-0853 

(402) 472-0965 

Outdoor Test Site 

4630 N.W. 36th Street 

Lincoln, Nebraska 68524 

 

Submitted to 

 

MIDWEST POOLED FUND PROGRAM 

Nebraska Department of Transportation 

1500 Nebraska Highway 2 

Lincoln, Nebraska 68502 

 

 

MwRSF Research Report No.  TRP-03-412-19 

 

December 11, 2019  



i 

TECHNICAL REPORT DOCUMENTATION PAGE 

1. Report No. 2. 3. Recipient’s Accession No. 

TRP-03-412-19   

4. Title and Subtitle 5. Report Date 

Design and Evaluation of Sleeve Nut through Tensile Testing December 11, 2019  

6. 

 

7. Author(s) 8. Performing Organization Report No. 

Stolle, C.S., Lechtenberg, K.A., Asadollahipajouh, M., Faller, R.K., and Urbank, 

E.L. 

TRP-03-412-19 

9. Performing Organization Name and Address 10. Project/Task/Work Unit No. 

Midwest Roadside Safety Facility (MwRSF) 

Nebraska Transportation Center 

University of Nebraska-Lincoln  

Main Office: 

Prem S. Paul Research Center at Whittier School  

Room 130, 2200 Vine Street 

Lincoln, Nebraska 68583-0853 

Outdoor Test Site: 

4630 N.W. 36th Street 

Lincoln, Nebraska 68524 

 

11. Contract © or Grant (G) No. 
TPF-5(193) Supplement #118 

12. Sponsoring Organization Name and Address 13. Type of Report and Period Covered 

Midwest Pooled Fund Program 

Nebraska Department of Transportation 

1500 Nebraska Highway 2 

Lincoln, Nebraska 68502 

Final Report: 2017-2019 

14. Sponsoring Agency Code 

RPFP–18-CABLE-1 

 

15. Supplementary Notes 

Prepared in cooperation with U.S. Department of Transportation, Federal Highway Administration. 

16. Abstract 

The Midwest Pooled Fund Program has been developing a prototype of a non-proprietary, high-tension, four-cable, 

median barrier for use anywhere in a 6H:1V median V-ditch. This system incorporates four evenly-spaced cables, Midwest 

Weak Posts (MWPs) spaced at 8 to 16 ft (2.4 to 4.9 m) intervals, and a bolted, tabbed bracket to attach the cables to each post. 

Full-scale crash testing was needed to evaluate the barrier’s safety performance. According to the Manual for Assessing Safety 

Hardware 2016 (MASH 2016) testing matrix for cable barriers installed within a 6H:1V median V-ditch, a series of eight 

full-scale crash tests are required to evaluate the safety performance of a system.  

Previous full-scale tests conducted on this system have indicated potential cable snag on the cable bracket nuts and 

exposed threaded studs. Cable snagging can limit vertical cable movement and post deflection, which could then lead to 

significant occupant compartment deformation and penetration, and therefore failed tests. Consequently, new nut designs 

were investigated for use with the cable brackets in attempt to eliminate cable snagging.  Tensile testing was performed on 

multiple sleeve nut prototypes and all were deemed acceptable.  

17. Document Analysis/Descriptors 18. Availability Statement 

Highway Safety, Crash Test, Roadside Safety Appurtenances, 

MASH, Cable Barrier, Sleeve Nut, Closed-Section Post, and 

Tensile Testing. 

No restrictions. Document available from: National 

Technical Information Services, Springfield, Virginia 

22161 

19. Security Class (this report) 20. Security Class (this page) 21. No. of Pages 22. Price 

Unclassified Unclassified 33  



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

ii 

DISCLAIMER STATEMENT 

This report was completed with funding from the Federal Highway Administration, U.S. 

Department of Transportation, and the Midwest Pooled Fund Program. The contents of this report 

reflect the views and opinions of the authors who are responsible for the facts and the accuracy of 

the data presented herein. The contents do not necessarily reflect the official views or policies of 

the state highway departments participating in the Midwest Pooled Fund Program nor the Federal 

Highway Administration, U.S. Department of Transportation. This report does not constitute a 

standard, specification, regulation, product endorsement, or an endorsement of manufacturers.  

UNCERTAINTY OF MEASUREMENT STATEMENT 

The Midwest Roadside Safety Facility (MwRSF) has determined the uncertainty of 

measurements for several parameters involved in standard full-scale crash testing and non-standard 

testing of roadside safety features. Information regarding the uncertainty of measurements for 

critical parameters is available upon request by the sponsor and the Federal Highway 

Administration. Test nos. HTSN-1 through HTSN-14 were non-certified component tests 

conducted for research and development purposes only and are outside the scope of the MwRSF’s 

A2LA Accreditation. 

ACKNOWLEDGEMENTS 

The authors wish to acknowledge several sources that made a contribution to this project: 

the Midwest Pooled Fund Program funded by the California Department of Transportation, Florida 

Department of Transportation, Georgia Department of Transportation, Hawaii Department of 

Transportation, Illinois Department of Transportation, Indiana Department of Transportation, 

Iowa Department of Transportation, Kansas Department of Transportation, Kentucky Department 

of Transportation, Minnesota Department of Transportation, Missouri Department of 

Transportation, Nebraska Department of Transportation, New Jersey Department of 

Transportation, North Carolina Department of Transportation, Ohio Department of Transportation, 

South Carolina Department of Transportation, South Dakota Department of Transportation, Utah 

Department of Transportation, Virginia Department of Transportation, Wisconsin Department of 

Transportation, and Wyoming Department of Transportation for sponsoring this project; and (2) 

MwRSF personnel for conducting the component tests.  

Acknowledgment is also given to the following individuals who made a contribution to the 

completion of this research project. 

Midwest Roadside Safety Facility 
J.D. Reid, Ph.D., Professor 

J.C. Holloway, M.S.C.E., E.I.T., Research Engineer & 

Assistant Director –Physical Testing Division 

R.W. Bielenberg, M.S.M.E., E.I.T., Research Engineer 

S.K. Rosenbaugh, M.S.C.E., E.I.T., Research Engineer 

J.D. Rasmussen, Ph.D., P.E., Research Assistant Professor 

J.S. Steelman, Ph.D., P.E., Assistant Professor 

A.T. Russell, B.S.B.A., Testing and Maintenance Technician II 

E.W. Krier, B.S., Construction and Testing Technician II  

S.M. Tighe, Construction and Testing Technician I 

D.S. Charroin, Construction and Testing Technician I 

R.M. Novak, Construction and Testing Technician I 

T.C. Donahoo, Construction and Testing Technician I  

J.T. Jones, Construction and Testing Technician I 

C.I. Sims, Construction and Testing Technician I 

J.E. Kohtz, B.S.M.E., CAD Technician 

Z.Z. Jabr, Engineering Technician 

Undergraduate and Graduate Research Assistants



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

iii 

California Department of Transportation 

Bob Meline, Chief, Roadside Safety Research Branch 

David Whitesel, P.E., Transportation Engineer 

John Jewell, P.E., Senior Transportation Engineer, 

Specialist 

 

Florida Department of Transportation 

Derwood C. Sheppard, Jr., P.E., Design Standards 

Publication Manager, Roadway Design Engineer 

 

Georgia Department of Transportation 

Brent Story, P.E., State Design Policy Engineer 

Frank Flanders IV, P.E., Assistant State Design Policy 

Engineer 

 

Hawaii Department of Transportation 

James Fu, P.E., State Bridge Engineer  

Dean Takiguchi, P.E., Engineer, Bridge Design Section 

Kimberly Okamura, Engineer, Bridge Design Section 

 

Illinois Department of Transportation 

Filiberto Sotelo, Safety Evaluation Engineer 

Martha Brown, P.E., Safety Evaluation Unit Chief 

 

Indiana Department of Transportation 

Katherine Smutzer, P.E., Standards Engineer 

Elizabeth Phillips, Standards and Policy Manager 

 

Iowa Department of Transportation 

Chris Poole, P.E., Roadside Safety Engineer 

Brian Smith, P.E., Methods Engineer 

Daniel Harness, P.E., Transportation Engineer Specialist 

Dean Sayre, P.E., Roadside Safety Engineer 

Stuart Nielsen, P.E., Transportation Engineer 

Administrator, Design 

Elijah Gansen, P.E., Geometrics Engineer 

 

Kansas Department of Transportation 

Ron Seitz, P.E., Director of Design 

Scott King, P.E., Road Design Bureau Chief 

Thomas Rhoads, P.E., Road Design Leader, Bureau of 

Road Design 

Brian Kierath Jr., Engineering Associate III, Bureau of 

Road Design 

 

Kentucky Department of Transportation 

Jason J. Siwula, P.E., Assistant State Highway Engineer 

Kevin Martin, P.E., Transportation Engineer Specialist 

Gary Newton, Engineering Tech III, Design Standards 

 

Minnesota Department of Transportation 

Michael Elle, P.E., Design Standards Engineer 

Michelle Moser, P.E., Assistant Design Standards Engineer  

 

Missouri Department of Transportation 

Sarah Kleinschmit, P.E., Policy and Innovations Engineer 

 

Nebraska Department of Transportation 

Phil TenHulzen, P.E., Design Standards Engineer 

Jim Knott, P.E., Construction Engineer 

Mike Owen, P.E., State Roadway Design Engineer 

Matt Neemann, P.E., Traffic Control Engineer 

Jodi Gibson, Research Coordinator 

 

New Jersey Department of Transportation 

Huang Tang, Senior Engineer, Transportation 

Joseph Warren, Senior Engineer, Transportation 

 

North Carolina Department of Transportation 

Neil Mastin, P.E., Manager, Transportation Program 

Management – Research and Development 

D. D. “Bucky” Galloway, P.E., CPM, Field Operations 

Engineer 

Brian Mayhew, P.E., State Traffic Safety Engineer 

Joel Howerton, P.E., Plans and Standards Engineer 

 

Ohio Department of Transportation 

Don Fisher, P.E., Roadway Standards Engineer  

 

South Carolina Department of Transportation 

J. Adam Hixon, P.E., Design Standards Associate 

Mark H. Anthony, P.E., Letting Preparation Engineer 

Henry Cross, P.E., Design Standards Engineer 

Jason Hall, P.E., Engineer 

 

South Dakota Department of Transportation 

David Huft, P.E., Research Engineer 

Bernie Clocksin, P.E., Standards Engineer 

 

Utah Department of Transportation 

Shawn Debenham, Traffic and Safety Specialist 

Glenn Blackwelder, Operations Engineer 

 

Virginia Department of Transportation 

Charles Patterson, P.E., Standards/Special Design Section 

Manager 

Andrew Zickler, P.E., Complex Bridge Design and ABC 

Support Program Manager 

 

Wisconsin Department of Transportation 

Jerry Zogg, P.E., former Chief Roadway Standards 

Engineer 

Erik Emerson, P.E., Standards Development Engineer 

Rodney Taylor, P.E., Roadway Design Standards Unit 

Supervisor 

 

Wyoming Department of Transportation 

William Wilson, P.E., Architectural and Highway 

Standards Engineer 

 

Federal Highway Administration  
David Mraz, Division Bridge Engineer, Nebraska Division 

Office 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

iv 

TABLE OF CONTENTS 

TECHNICAL REPORT DOCUMENTATION PAGE ................................................................... i 

DISCLAIMER STATEMENT ....................................................................................................... ii 

UNCERTAINTY OF MEASUREMENT STATEMENT .............................................................. ii 

ACKNOWLEDGEMENTS ............................................................................................................ ii 

TABLE OF CONTENTS ............................................................................................................... iv 

LIST OF FIGURES ........................................................................................................................ v 

LIST OF TABLES .......................................................................................................................... v 

1 INTRODUCTION ....................................................................................................................... 1 

1.1 Background ................................................................................................................... 1 
1.2 Objective ....................................................................................................................... 2 
1.3 Scope ............................................................................................................................. 2 

2 SLEEVE NUT DESIGN .............................................................................................................. 3 
2.1 Sleeve Nut Design......................................................................................................... 3 

2.2 Test Conditions ............................................................................................................. 5 
2.3 Test Results ................................................................................................................. 10 

3 CONCLUSIONS AND RECOMMENDATIONS .................................................................... 15 

4 REFERENCES .......................................................................................................................... 18 

5 APPENDICES ........................................................................................................................... 19 
Appendix A. Drawings ................................................................................................... 20 
Appendix B. Material Specifications ............................................................................. 25 

Appendix C. Test Results ............................................................................................... 30 
 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

v 

LIST OF FIGURES 

Figure 1. Illustration of Differences between Sleeve Nut Concepts ................................................3 

Figure 2. Tensile Test Setup ............................................................................................................5 
Figure 3. Pre-Test Bolts and Nuts, Test Nos. HTSN-1 through HTSN-4 .......................................6 
Figure 4. Pre-Test Bolts and Nuts, Test Nos. HTSN-5 through HTSN-8 .......................................7 
Figure 5. Pre-Test Bolts and Nuts, Test Nos. HTSN-9 through HTSN-12 .....................................8 
Figure 6. Pre-Test Bolts and Nuts, Test Nos. HTSN-13 and HTSN-14 ..........................................9 

Figure 7. Post-Test Bolts and Nuts, Test Nos. HTSN-1 and HTSN-2...........................................11 
Figure 8. Post-Test Bolts and Nuts, Test Nos. HTSN-3 through HTSN-6 ....................................12 
Figure 9. Post-Test Bolts and Nuts, Test Nos. HTSN-7 through HTSN-10 ..................................13 
Figure 10. Post-Test Bolts and Nuts, Test Nos. HTSN-11 through HTSN-14 ..............................14 

Figure 11. Recommended Barrel Nut with Cone Head Design .....................................................16 
Figure 12. Recommended Barrel Nut with Dome Head Design ...................................................17 
Figure A-1. 1.391-in. (35-mm) Long Barrel Nut with Cone Head Design ...................................21 

Figure A-2. 1.391-in. (35-mm) Long Barrel Nut with Dome Head Design ..................................22 
Figure A-3. 1.567-in. (40-mm) Long Barrel Nut with Cone Head Design ...................................23 

Figure A-4. 1.576-in. (40-mm) Long Barrel Nut with Dome Head Design ..................................24 
Figure B-2. 5/16-in. (8-mm) Dia. Sleeve Nut Material Certification ..............................................27 

Figure B-3. 5/16-in. (8-mm) Plain Hex Head Bolt Material Certification .......................................28 
Figure B-4. 5/16-in. (8-mm) Dia. Ecoguard Hex Head Bolt Material Certification ........................29 
Figure C-1. MTS Test Results Summary .......................................................................................31 

Figure C-2. Comparison of Test Results........................................................................................32 
 

LIST OF TABLES 

Table 1. Test Matrix, Test Nos. HTSN-1 through HTSN-14 ..........................................................4 
Table B-1. Bill of Materials, Test Nos. HTSN-1 through HTSN-14 .............................................26 

 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

1 

1 INTRODUCTION 

1.1 Background 

In recent years, the Midwest Pooled Fund Program has been developing a non-proprietary, 

high-tension, four-cable, median barrier in cooperation with the Midwest Roadside Safety Facility 

(MwRSF) [1]. This cable barrier system was intended for use anywhere within a 6H:1V median 

V-ditch and consisted of four cables supported by Midwest Weak Posts (MWPs) spaced at 8-ft 

(2.4-m) intervals. A bolted, tabbed bracket was utilized to attach the lower three cables on 

alternating sides of the MWPs, while a brass keeper rod was utilized to contain the top cable within 

a V-notch cut into the top of the posts. 

Previously, this cable barrier system was subjected to eight full-scale crash tests in 

accordance with the Manual for Assessing Safety Hardware (MASH) 2009 and 2016 [2-3]. Test 

nos. MWP-1 and MWP-2, in accordance with MASH 2009 test designation nos. 3-17 and 3-11, 

respectively, successfully captured and contained the vehicle [1]. For test no. MWP-3, the post 

spacing was changed to 8 ft (2.4 m) to evaluate the system deflections and working width with 

tighter post spacing. Ultimately, the test failed due to vehicle rollover [1].  

Modifications were made to improve the system performance, which required further full-

scale crash testing to evaluate the crashworthiness of the system according to the MASH 2009 Test 

Level 3 (TL-3) criteria [2]. Test no. MWP-4 was conducted in accordance with MASH 2009 test 

designation no. 3-11 and utilized a 10-ft (3.0-m) post spacing to establish the working width 

associated with a reduced post spacing. During the test, the 2270P pickup truck was initially 

captured and redirected by cable nos. 2 and 4. However, the vehicle eventually overrode cable no. 

2 after the vehicle was parallel with the system [4]. Test no. MWP-5 was invalidated due to 

technical difficulties, and thus was not reported on.  

Test no. MWP-6, conducted in accordance with MASH 2009 test designation no. 3-10, 

utilized 8-ft (2.4-m) post spacing placed on level terrain. During the test, the occupant 

compartment was penetrated when the top of the posts were overridden, causing tears in the floor 

pan in two locations. Thus, test no. MWP-6 was determined to have failed the safety performance 

criteria corresponding to MASH 2009 test designation no. 3-10 [4]. 

To reduce the likelihood of occupant compartment penetration, the top corners of the MWP 

were rounded. The outer corners were radiused ⅝ in. (16 mm), and the inner bent corners were 

filleted ¼ in. (6 mm). Test no. MWP-7 was a repeat of test no. MWP-6, but with the modified 

MWP. During the test, the floor pan was again torn due to contact with the tops of the MWPs as 

the vehicle overrode them. Four separate tears occurred. Thus, test no. MWP-7 was determined to 

have failed the safety performance criteria corresponding to MASH 2009 test designation no. 3-

10 [4]. These performance issues highlighted the need to develop new barrier components to 

improve the safety performance of the cable median barrier.  

After a series of 21 bogie tests, a modified post was designed to mitigate the floor pan 

tearing [5]. Test no. MWP-8 was conducted on the modified barrier system, consisting of MWPs 

with rounded top edges and ¾-in. (19-mm) diameter weakening holes at the ground line. This test 

was conducted according to MASH 2016 test designation no. 3-10 [6]. The vehicle was contained 

by the system, and no floor pan tearing was observed throughout the initial two vehicle crossover 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

2 

events across the barrier and posts. During the third impact series with the posts, one post 

penetrated the occupant compartment, which resulted in floor pan tearing in two locations. 

Therefore, test no. MWP-8 was deemed unacceptable. 

An investigation into protecting the free edges at the top of the post included adding a cap 

to the top of the posts to reduce the propensity for post penetration into the occupant compartment 

and floor pan. A total of five bogie tests were conducted to evaluate several cap designs and post 

modifications [7]. From the bogie test results, a two-part cap with a single retainer bolt added to 

the top of the posts was expected to shield the free edges of the top of the MWP during post-to-

vehicle contact and mitigate the floor pan tearing. 

Analysis of the test results for test no. MWP-9 [8] showed that the system adequately 

contained and redirected the 1100C vehicle with controlled lateral displacements of the barrier. 

There were no detached elements or fragments that showed potential for penetrating the occupant 

compartment or presented undue hazard to other traffic. The test vehicle did not penetrate nor ride 

over the barrier and remained upright during and after the collision. Vehicle roll, pitch, and yaw 

angular displacements were deemed acceptable because they did not adversely influence occupant 

risk safety criteria nor cause rollover. However, cable no. 3 snagged on the top cap retainer bolt 

and nut and induced an increased downward and lateral force to the vehicle’s A-pillar. This action 

caused cable nos. 3 and 4 to become interlocked with the A-pillar on the impact side of the vehicle, 

resulting in excessive lateral A-pillar crush of 3.4 in. (86 mm), which is greater than the 3-in. (76-

mm) lateral MASH 2016 limit. Additionally, the left-front side window shattered due to contact 

with cable nos. 1 and 2, which is unacceptable when the A- or B-pillar crush exceeds the MASH 

2016 limit of 3 in. (76 mm). Tearing and penetration did not occur to the vehicle’s floor pan. Thus, 

the two-part cap designed for this test was able to mitigate the floor pan tearing and post 

penetration into the occupant compartment, but the test was ultimately deemed unsuccessful due 

to excessive A-pillar crush and the shattering of the left-front side window. 

During the nine full-scale tests on the cable barrier design, which included a bolted, tabbed 

bracket, the cables would release from the brackets and then slide up the post. Evidence from 

previous testing indicated potential snag on the nut and end of the bolt. Therefore, a need arose to 

investigate a new nut design for use with the bolted tabbed bracket. 

1.2 Objective 

The objective of this research was to design and evaluate a new nut design to mitigate 

potential cable snag on the non-proprietary, four-cable, median barrier. 

1.3 Scope 

The research objective was achieved through completion of several tasks. Investigation and 

design of two prototype sleeve nuts for tabbed brackets was conducted. After the prototype nuts 

were fabricated, tensile testing was performed on each concept. Results were analyzed, evaluated, 

and documented. Conclusions and recommendations were then made pertaining to the safety 

performance of the newly-designed sleeve nuts. 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

3 

2 SLEEVE NUT DESIGN 

2.1 Sleeve Nut Design 

All sleeve nuts were fabricated from AISI 1144 Class B Stressproof steel rod, with nominal 

yield and ultimate strengths of 100 ksi (689 MPa) and 115 ksi (792 MPa), respectively. Two 

different overall lengths, head shapes, and threaded lengths were investigated. The inner and outer 

diameters were the same for all sleeve nuts and measured 5/16 in. (8 mm) and 0.563 in. (14 mm), 

respectively. The effects of plain and corrosion-resistant finishes were also investigated. Examples 

of the different parameters are shown in Figure 1. The test matrix is shown in Table 1. Detailed 

drawings are shown in Appendix A. 

 

Figure 1. Illustration of Differences between Sleeve Nut Concepts 

The two different head shapes were designed to be low profile in order to mitigate cable 

snag and reduce the possibility of floor pan tearing. Both sleeve nuts were designed to develop 

nominal yield and tensile forces of 5.2 kips and 6.0 kips (23.1 kN and 26.7 kN), respectively. These 

values are near the minimum nominal yield and tensile strength of the 5/16-in. (8-mm) diameter 

Grade 5 bolt, which are 92 ksi and 120 ksi (634.3 MPa and 827.4 MPa), respectively. This 

corresponds to a yield and tensile force capacity of 4.8 kips and 6.3 kips (21.4 kN and 28.0 kN), 

respectively, for the 5/16-in. (8-mm) diameter bolt. The bolted connection is necessary to maintain 

the fixity of the tabbed bracket, and provide positive engagement between the tab bracket and post.  

Dome Head 

Galvanized 

1.391 in. Long 

0.5-in. Threaded Length 

Cone Head 

Plain Finish 

1.576 in. Long 

0.7-in. Threaded Length 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

4
 

Table 1. Test Matrix, Test Nos. HTSN-1 through HTSN-14 

 

 

Test 

Name 

Bolt Sleeve Nut 
Maximum 

Tensile Force 

(kip) 

Failure 

Mechanism Finish 
Diameter 

(in.) 

Length 

(in.) 

Head 

Shape 

Length 

(in.) 
Tap 

Threaded 

Depth 

(in.) 

Finish 

HTSN-1 Plain 5/16 5 Dome 1.576 Regular 0.750 Plain 7.34 Bolt fracture 

HTSN-2 Plain 5/16 5 Dome 1.576 Regular 0.750 Plain 7.40 Bolt fracture 

HTSN-3 Plain 5/16 5 Dome 1.391 Regular 0.625 Plain 7.37 Bolt fracture 

HTSN-4 Plain 5/16 5 Dome 1.391 Regular 0.625 Plain 7.39 Bolt fracture 

HTSN-5 Plain 5/16 5 Cone 1.391 Regular 0.625 Plain 7.39 Bolt fracture 

HTSN-6 Plain 5/16 5 Cone 1.391 Regular 0.625 Plain 7.39 Bolt fracture 

HTSN-7 Ecoguard 5/16 5 Cone 1.391 Oversize 0.625 Plain 6.74 Bolt fracture 

HTSN-8 Ecoguard 5/16 5 Dome 1.391 Oversize 0.625 Plain 6.85 Bolt fracture 

HTSN-9 

(Baseline) 
Plain 5/16 5 Regular 5/16 nut Plain 7.34 Bolt fracture 

HTSN-10 No bolt, used MTS base (Gr.8) Cone 1.391 Regular 0.625 Plain N/A 
Test jig thread 

fracture 

HTSN-11 Ecoguard 5/16 5 Dome 1.391 Oversize 0.625 Galvanized 6.81 Bolt fracture 

HTSN-12 Ecoguard 5/16 5 Dome 1.391 Oversize 0.625 Galvanized 6.97 Bolt fracture 

HTSN-13 Ecoguard 5/16 5 Cone 1.391 Oversize 0.625 Galvanized 6.74 Bolt fracture 

HTSN-14 Ecoguard 5/16 5 Cone 1.391 Oversize 0.625 Galvanized 7.00 Bolt fracture 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

5 

2.2 Test Conditions 

For each test, a 5/16-in. (8-mm) diameter Grade 5 bolt was threaded into the sleeve nut until 

it was snug. Typically, engagement of three threads between a bolt and nut will develop between 

75 and 90 percent of the bolt strength. Therefore, one full bolt diameter deep into the sleeve nut 

should develop the full strength of the bolt. Each test used either a plain or a corrosion-resistant 

finish, as shown Table 1. The bolt and nut combinations were attached to test jigs mounted between 

grips of an MTS Criterion Series 60 – Model 64.106 machine, as shown in Figure 2. Pre-test 

photographs of the nuts and bolts are shown in Figures 3 through 6. A quasi-static tension test was 

conducted by slowly separating the grips of the tensile testing machine, thus creating a tensile 

force in the bolt and nut, until failure occurred. A total of fourteen static component tests were 

conducted, as shown in Table 1. 

 

Figure 2. Tensile Test Setup 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

6
 

    

 HTSN-1 HTSN-2 HTSN-3 HTSN-4 

Figure 3. Pre-Test Bolts and Nuts, Test Nos. HTSN-1 through HTSN-4 



 

 

7
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

 

 

 

 

Figure 4. Pre-Test Bolts and Nuts, Test Nos. HTSN-5 through HTSN-8 



 

 

8
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

 

HTSN-9 

 

HTSN-11 

  

HTSN-10 

 

HTSN-12

Figure 5. Pre-Test Bolts and Nuts, Test Nos. HTSN-9 through HTSN-12 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

9 

 

HTSN-13 

 

HTSN-14 

Figure 6. Pre-Test Bolts and Nuts, Test Nos. HTSN-13 and HTSN-14 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

10 

2.3 Test Results 

The variables in each test, test nos. HTSN-1 through HTSN-14, were the parameters of the 

bolts and nuts, as shown in Table 1. In every test, the 5/16-in. (8-mm) diameter Grade 5 bolt failed 

before the sleeve nut. Photographs of the bolt and nut damage for each test are shown in Figures 7 

through 10. 

During the initial round of testing (test nos. HTSN-1 through HTSN-6), the sleeve nut 

length, threaded depth, and head shape were investigated. The longer sleeve nut and deeper thread 

length did not make a difference in the test results. In addition, the two different head shapes did 

not make a difference. Therefore, all remaining tests were conducted on the shorter sleeve nut with 

shallower thread length. However due to the availability of head shapes of the existing sleeve nuts, 

both the dome and cone heads continued to be evaluated. 

All nut and bolt combinations developed strength beyond the expected bolt strength, as 

shown in Figure C-1. The pre-loading in the sample shown in Figure C-2 was due to tension in the 

locking mechanism of the MTS Criterion that was meant to hold the sample in place for the test. 

After each test, the sleeve nuts were inspected for damage, markings, or permanent 

deformation. For each test condition, the sleeve nuts and threads remained undamaged. The 

fractured portion of the bolt remaining in the sleeve nut could be easily removed without any 

plastic damage to the threads. No differences in test results were observed based on nut 

galvanization or head shape. 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

11 

  

HTSN-1 

  

HTSN-2 

Figure 7. Post-Test Bolts and Nuts, Test Nos. HTSN-1 and HTSN-2



 

 

1
2
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

  

HTSN-3 

  

HTSN-5 

  

HTSN-4 

  

HTSN-6 

Figure 8. Post-Test Bolts and Nuts, Test Nos. HTSN-3 through HTSN-6 



 

 

1
3
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

  

HTSN-7 

  

HTSN-9 

  

HTSN-8 

 

HTSN-10 

Figure 9. Post-Test Bolts and Nuts, Test Nos. HTSN-7 through HTSN-10 



 

 

1
4
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

  

HTSN-11 

  

HTSN-13 

  

HTSN-12 

  

HTSN-14

Figure 10. Post-Test Bolts and Nuts, Test Nos. HTSN-11 through HTSN-14



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

15 

3 CONCLUSIONS AND RECOMMENDATIONS 

Based on the test results, all sleeve nut designs herein were determined to be acceptable. 

Each configuration developed the full tensile capacity of the 5/16-in. (8-mm) diameter Grade 5 bolt, 

which was 6.3 kips (28.0 kN) nominally. Also, according to ASTM A563 [9], mixing finishes is 

not recommended. Therefore, a corrosion resistant sleeve nut should only be used with a corrosion 

resistant bolt. The recommended final nut designs are shown in Figures 11 and 12. 

In order to allow for a galvanized finish, the sleeve nut threads need to be oversized. It is 

left to the fabricator to determine the amount of oversizing that is required and necessary for 

accommodating a corrosion-resistant, 5/16-in. diameter, ASTM A307 or Grade 5 bolt.  

Typically, engagement of three threads between a bolt and nut will develop between 75 

and 90 percent of the bolt strength. Therefore, one full bolt diameter deep into the sleeve nut should 

develop the full strength of the bolt. In addition, the bolt length will be designed such that a 

maximum number of threads will be engaged between the bolt and the sleeve nut when utilized in 

the cable median barrier system design (i.e., bolt threaded into sleeve nut the entire threaded 

portion of the sleeve nut). 



 

 

1
6
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

 
Figure 11. Recommended Barrel Nut with Cone Head Design  



 

 

1
7
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

 
Figure 12. Recommended Barrel Nut with Dome Head Design 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

18 

4 REFERENCES 

1. Bielenberg, R.W., Rosenbaugh, S.K., Faller, R.K., Humphrey, B.M., Schmidt, T.L., 

Lechtenberg, K.A., and Reid, J.D., MASH Test Nos. 3-17 and 3-11 on a Non-Proprietary 

Cable Median Barrier, Report No. TRP-03-303-15, Midwest Roadside Safety Facility, 

University of Nebraska-Lincoln, Lincoln, Nebraska, November 3, 2015. 

2. Manual for Assessing Safety Hardware, American Association of State Highway and 

Transportation Officials (AASHTO), Washington, D.C., 2009. 

3. Manual for Assessing Safety Hardware, Second Edition, American Association of State 

Highway and Transportation Officials (AASHTO), Washington, D.C., 2016. 

4. Kohtz, J.E., Bielenberg, R.W., Rosenbaugh, S.K., Faller, R.K., Lechtenberg, K.A., and Reid, 

J.D., MASH Test Nos. 3-11 and 3-10 on a Non-Proprietary Cable Median Barrier, Report 

No. TRP-03-327-16, Midwest Roadside Safety Facility, University of Nebraska-Lincoln, 

Lincoln, Nebraska, May 17, 2016. 

5. Rosenbaugh, S.K., Hartwell, J.H., Bielenberg, R.W., Faller, R.K., Holloway, J.C., and 

Lechtenberg, K.A., Evaluation of Floor Pan Tearing and Cable Splices for Cable Barrier 

Systems, Report No. TRP-03-324-17, Midwest Roadside Safety Facility, University of 

Nebraska-Lincoln, Lincoln, Nebraska, May 16, 2017. 

6. Meyer, D.T., Lechtenberg, K.A., Faller, R.K., Bielenberg, R.W., Rosenbaugh, S.K., and 

Reid, J.D., MASH Test No. 3-10 of a Non-Proprietary, High-Tension, Cable Median Barrier 

for Use in 6H:1V V-Ditch (Test No. MWP-8), Report No. TRP-03-331-17, Midwest Roadside 

Safety Facility, University of Nebraska-Lincoln, Lincoln, Nebraska, May 10, 2017. 

7. Meyer, D.T., Asadollahi Pajouh, M., Lechtenberg, K.A., Faller, R.K., Bielenberg, R.W., and 

Holloway, J.C., Phase II Evaluation of Floor Pan Tearing for Cable Barrier Systems, Report 

No. TRP-03-359-18, Midwest Roadside Safety Facility, University of Nebraska-Lincoln, 

Lincoln, Nebraska, March 30, 2018. 

8. Asadollahi Pajouh, M., Lechtenberg, K.A., Faller, R.K., Holloway, J.C. Bielenberg, R.W., 

Rosenbaugh, S.K., and Reid, J.D., MASH Test No. 3-10 of a Non-Proprietary, High-Tension, 

Cable Median Barrier for Use in 6H:1V V-Ditch (Test No. MWP-9), Report No. TRP-03-

412-19, Midwest Roadside Safety Facility, University of Nebraska-Lincoln, Lincoln, N, 

March 30, 2018. 

9. A563-15 Standard Specification for Carbon and Alloy Steel Nuts, ASTM International, West 

Conshohocken, Pennsylvania, 2015.  



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

19 

5 APPENDICES 

 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

20 

Appendix A. Drawings 

 

 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

2
1
 

 

Figure A-1.  1.391-in. (35-mm) Long Barrel Nut with Cone Head Design 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

2
2
 

 

Figure A-2.  1.391-in. (35-mm) Long Barrel Nut with Dome Head Design 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

2
3
 

 

Figure A-3. 1.567-in. (40-mm) Long Barrel Nut with Cone Head Design 



 

 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

2
4
 

 

Figure A-4.  1.576-in. (40-mm) Long Barrel Nut with Dome Head Design 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

25 

Appendix B. Material Specifications 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

26 

Table B-1. Bill of Materials, Test Nos. HTSN-1 through HTSN-14 

Description Material Specification Reference No. 

5/16-in. (8-mm) Dia. Sleeve Nut 
AISI 1144 Class B Stressproof 

Steel 
Correspondence  

5/16-in. (8-mm) Dia. Plain Hex 

Head Bolt 
SAE J429 Gr. 5 

T#220023859  

P#12073 
5/16-in. (8-mm) Dia. Ecoguard 

Hex Head Bolt 
SAE J429 Gr. 5 H#XG40ACR 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

27 

 

Figure B-2. 5/16-in. (8-mm) Dia. Sleeve Nut Material Certification 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

28 

 

Figure B-3. 5/16-in. (8-mm) Plain Hex Head Bolt Material Certification 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

29 

 

Figure B-4. 5/16-in. (8-mm) Dia. Ecoguard Hex Head Bolt Material Certification 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

30 

Appendix C. Test Results 

 

 

 

 



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

31 

 
Figure C-1. MTS Test Results Summary



 

 

3
2
 

3
2
 

D
ecem

b
er 1

1
, 2

0
1
9

  

M
w

R
S

F
 R

ep
o

rt N
o
. T

R
P

-0
3

-4
1
2
-1

9
 

 
Figure C-2. Comparison of Test Results

0

1

2

3

4

5

6

7

8

0.00 0.02 0.04 0.06 0.08 0.10 0.12 0.14 0.16 0.18

L
o

a
d

 (
k

ip
s)

Zeroed Extension (in.)

HTSN-9 (baseline) HTSN-1 HTSN-2 HTSN-3

HTSN-4 HTSN-5 HTSN-6 HTSN-7

HTSN-8 HTSN-10 HTSN-11 HTSN-12

HTSN-13 HTSN-14



December 11, 2019  

MwRSF Report No. TRP-03-412-19 

 

33 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

END OF DOCUMENT 

 

 

 


	DISCLAIMER STATEMENT
	UNCERTAINTY OF MEASUREMENT STATEMENT
	ACKNOWLEDGEMENTS
	TABLE OF CONTENTS
	LIST OF FIGURES
	LIST OF TABLES
	1 INTRODUCTION
	1.1 Background
	1.2 Objective
	1.3 Scope

	2 SLEEVE NUT DESIGN
	2.1 Sleeve Nut Design
	2.2 Test Conditions
	2.3 Test Results

	3 CONCLUSIONS AND RECOMMENDATIONS
	4 REFERENCES
	5 APPENDICES
	Appendix A. Drawings
	Appendix B. Material Specifications
	Appendix C. Test Results


